AP Chemistry Review Targets 1-6

Directions: Answer each of the following questions. Place your answers on the
provided blanks. This is an open note quiz.

1. List the conjugate base of CH3COOH. CH 3C60”

2. List the conjugate acid of HpAsO4". ”3 As Oy

Consider the following reaction for Questions 3and 4:
HCOg'(aq) + HPO4%(aq) <> HaCOs(aq) + PO43(aq)
2 A LA - aB
3. ldentify the acid in the above reaction. HP0 Y

-

4. ldentify the conjugate base in the above reaction. ?0 Yy

5. Select all correct answers. According to Arrhenius, an acid is a substance that _____
€) is capable of donating one or more protons .-
(® causes an increase in the concentration of the H+ ions in solution ¥~
C) can accept a pair of e- to form a coordinate covalent bond not+ Acrhtaiss
d) reacts with the solvent to form a cation formed by the autoionization of water
of thatsolvent wo} Arrhenivs
e) tastes bitter

6. A substance is said to be _awm p|no leric itit is capable of acting as
both an acid and a base.

7. In an acidic solution, the [H3O*] _> _ [OH"). Fillin the blank with <,>, or =,

8. HSO3"(aq) is an ion which is amphoteric. In the space below, write an equation for
the reaction in which HSO3"(aq) acts as a base in Ha20(1).

Hooy” + KO0 = 80, + OHT

9. In the space below, write an equation for the reaction in which HSO3"(aq) acts as an
acid in H20(l).

Hso™ + H0 = s50,*7 4+ hot

10. Predict the products of the following reaction:
H3O%aq) + F-(aq) < w0 + HF




-
11. A solution has [H+] of 0.00032 M. The [OH] is 2.13% 10 M and the
solutionis __ficidic . (acidic, basic, or neutral)
-l
12. What is the value for K, at 25°C? 1x10”"

For #13-23, show your work and then circle your final answers.

13.

14,

15.

16.

17.

18.

19.

How many times more acidic is a solution with a pH of 3.00 than a solution with a
pH of 5.507

3-—)'{——?§—f—?6 (OXI0 X = CpoXx
|o |10 10
-5
If a solution has a pH of 4.52, then its [H+] is __3.0Z X1D M.
lO-qJ‘L /
| s [He]is_ (31 318
If a solution has a pOH of 10.80, its [H+]is _(+ 31 X16 M.

If a magnesium hydroxide solution has a [OH"] of 1.00 X 10-11M, then its pH is iOD
M_',(ob‘),_ CHH] = 10ox10" M oh=3.60
Calculate the pH of a 0.0034 M solution of nitric acid.
Hnoy s shrony acid !
No3 15 & nh 'J . PH: —105(603"3 :[z'l.‘?
CHtl= 6.0034ym

Calculate the pOH of a solution made by dissolving 2.50 grams of HCIO3 in enough
water to make 2.50 L of solution. p H= ,1,7 (ong) = 1.42%

IS0s imole HEW3 _ i

Calculate the pH of a solution made by dissolving 14.0 g of strontium hydroxide in
enough water to make 3.00 L of solution. S ¢l DH)L

1.9 . [l 5e(0H), . .0384M y2 = .07¢8M =[0H7]
300L  12l.bL g pOH = ,{% (.0763) = L-1S

PH: - lLhs =




Limidtn renchony problem |
. Assume that you added 4.73 litef’s of 1.50 M HCl to 1.80 liters of 2.00 M Ca(OH)..
What would be the pH of the resulting solution? " v ——~

5.60mal origiral
(
(_.K.'zwu_(+ Calolf)y — 21,0 + Cull, - 3,65 mal vsel
Cu.—,s:.xﬂ’m‘ 5 Lumet O oS mol

L

= 2.04Cmol .05 mo) C,(,,(OU); rema s
4 Z ol BEI X2
(\ L.SOL A _7_-.‘2-0—"‘-—"’.’ x ._Z_V"_‘ﬂ_&?gi: 7,2,00mo| 000 mol OHT
N L Lol CaloH
\-?' : \5 . 160 md ~ .,01s3M
W 7 00Smol HEl, wol Galok)y 3,56 mol CaloH)y vsed ——

% 3 Zomel 14 478 +170L POH‘-‘- 1zl

21. Assume you wanted to make 50.0 L of a sodium hydroxide solution that has a pH of , Pﬂ'-: 12.19 !
10.00. How many grams of sodium hydroxide would this require?

P” =10.00 so [HW]= Looxi0~°M cnd [oH-] = ).ooxioIm

~4 ‘
SO.OL l.ooxio™ " ] x H0,0}_NLOE}_ = ﬁz_o 4 No.GH'
L Jmeol Nat H —

22. Whatis [H+] in a 0.10 M solution of HX, a weak acid, at 25°C?
-11
_ +H{{ x-] (KaforHX=4.0x10 ")
HX 2= H* # X K = (AT

[H=] €1 [ 8xX]

0, yoxio! =

Y2

‘\0

X = z,ox:o“’m

23. Whatis the % ionization of a 3.00 M acetic acid solution at 25°C? For acetic
acid the is K, = 1.8 x 10™.

00738

X+ ° —

LExw s = oo ~L = 500 109
= ,00734M
A 5 :.2“((?.9



